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TIME: 2 HOURS
INSTRUCTIONS:   
ANSWER QUESTION ONE AND ANY OTHER TWO QUESTIONS 
Question One (30 Marks)
a)
State and explain one (1) main accounting principle, rule, assumption or any other concept from the conceptual framework of accounting that would be used by an accountant to solve the following financial reporting problems:

(5 Marks)
(i) Shareholders have resisted the preparation of the annual financial statements citing the high costs of producing annual reports and their assessment that the business is a small enterprise.
(ii) A private hospital wants to assess the value contribution of laboratory equipment that were bought in the course of the year and are expected to be scrapped off after 5 years.
(iii) The company accountant included the owners house and car when preparing financial statement to the bank so that the business get a bigger loan.
(iv) The closing stock has a cost of Kshs. 1,500 and a market rate of Kshs. 1,300.  The accountant included stock at Kshs. 1,500.
(v) There is lack of clarity as regards what procedure to use when recognizing a new machine in the company’s financial statement. 
b)
List any five (5) users of accounting information and briefly explain their interest in the information.







(5 Marks)
c)
Explain two (2) errors that are not disclosed by a trial balance with the aid of practical examples.








(5 Marks)
d)
The following trial balance was extracted from the books of John Kamau as at 31st December 2013:







(15 Marks)
	
	Dr.
Kshs.
	Cr.
Kshs.

	Capital
	
	5,920,000

	Drawings
	1,200,000
	

	Trade Debtors 
	1,821,400
	

	Trade Creditors
	
	2,169,000

	Sales 
	
	8,905,600

	Purchases
	4,188,400
	

	Stock 1st Jan 2003
	2,533,300
	

	Sales return 
	144,700
	

	Purchase returns
	
	218,800

	Cash at hand
	56,800
	

	Balance at Bank
	1,056,400
	

	Warehouse expenses 
	640,000
	

	Discount allowed
	90,200
	

	Discount received
	
	170,400

	Office salaries
	600,000
	

	Office lighting
	188,800
	

	Rates
	108,200
	

	Motor vehicle (cost)
	1,280,000
	

	Freehold premises at cost
	2,600,000
	

	Fixtures and fittings at cost
	576,000
	

	General expenses
	142,400
	

	Insurance 
	28,000
	

	Provisions for bad debts
	
	50,000

	Motor vehicles expenses 
	150,400
	

	Bad debts written off
	28,800
	

	
	17,433,800
	17,433,800



Additional Information:
(i) Stock as at 31st December 2003 was valued at Kshs. 1,760,000
(ii) Depreciation of fixtures and fitting and motor vehicle is provided at 5% and 10% p.a on cost respectively.
(iii) Included in sales are goods for Kshs. 13,000 ordered by Mr. Patel in the month of April.  He has never communicated though the goods have been included in the closing stock.
(iv) Rates prepaid as at 31st December 2003 amounted to Kshs. 25,600.
(v) Unexpired insurance as at 31st December was at Kshs. 4,000.
(vi) Provision for bad debts as at 31st December 2003 is to be made at 2.5% of net trade debtors.
Required:
(I) Statement of comprehensive income for the year ended 31st December 2003.
(II) Statement of financial position as at 31st December 2003.
Question Two (20 Marks) 
a) 
Identify any three (3) books of original entry and explain their purpose.
(3 Marks)
b)
By use of appropriate examples distinguish between personal accounts and impersonal accounts.








(4 Marks)
c)
Highlight any three (3) reasons why businesses prepare a trial balance.
(3 Marks)
d)
Differentiate between the following terms:




(4 Marks)
(i) Return inwards and return outwards
(ii) Carriage inwards and carriage outwards
e)
Briefly discuss the qualitative characteristics of financial statements.
(6 Marks)
Question Three (20 Marks) 
The following information was extracted from the books of Mapato Traders for the period ended 31st March 2011.
	March 1:
	Started business with Kshs. 100,000 cash from private source.

	March 2:
	Bought goods on credit from A. Clicks Kshs. 29,600.

	March 3:
	Paid rent by cash Kshs. 2,800

	March 4:
	Paid Kshs. 100,000 of the cash into the bank account.

	March 5:
	Sold goods on credit to J. Simpson for Kshs. 5,400.

	March 7:
	Bought stationary Kshs. 1,500 by cheque.

	March 11:
	Cash sale of Kshs. 4,900.

	March 14:
	Goods returned by Mapato Traders to A. Clicks worth Kshs. 1,700.

	March 17:
	Sold goods on credit to Peter Kshs. 1,800.

	March 20:
	Paid for building repairs by cash Kshs. 1,800.

	March 22:
	J. Simpson returned goods to Mapato Traders worth Kshs. 1,400.

	March 27:
	Paid A. Clicks by cheque Kshs. 27,900.

	March 28:
	Cash purchase Kshs. 12,500

	March 29:
	Bought a motor vehicle by cheque Kshs. 39,500.

	March 30:
	Paid motor expenses in cash Kshs. 1,500.

	March 31:
	Bought fixtures Kshs. 12,000 on credit from R. West


Required:
a)
Prepare journal entries to record the above transactions.


(10 Marks)
b)
Prepare the ledger accounts and bring down the balances.


(10 Marks)
Question Four (20 Marks)
a)
The following bank statement and cash book relates to Sunshine Enterprises for the period ended 31st December 2009.
	Cash book (000)

	Dr.
	
	
	
	
	Cr.

	1/12/2009
	Bal b/f
	3,419
	8.12/2009
	Brian 
	462

	7/12/2009
	Frank
	101
	15/12/2009
	Gilbert 
	21

	22/12/2009
	Gideon 
	44
	28/12/2009
	Timothy
	209

	31/12/2009
	Terry
	319
	
	
	

	31/12/2009
	Smith
	246
	31/12/2009
	Bal c/f
	3,437

	
	
	4,129
	
	
	4,129


	Bank statement

	Date 
	Transaction
	Dr. Kshs. 000
	Cr. Kshs. 000
	Balance 000

	1/12
	Balance b/f
	-
	-
	3,419

	7/12
	Cheque deposit
	-
	101
	3,520

	11/12
	Brian
	462
	-
	3058

	20/12
	Gilbert
	21
	-
	3,037

	22/12
	Cheque deposit
	-
	44
	3,081

	31/12
	Credit Transfer: Mom’s
	-
	93
	3,174

	31/12
	Bank charges
	47
	-
	3,127



Required:
(i) Prepare an updated cashbook and a bank reconciliation statement to explain the difference in their balance as at 31st December 2009.

(10 Marks)
b)
Differentiate between straight line and reducing balance methods of depreciation.










(2 Marks)
c)
Highlight any two (2) factors that lead to depreciation of non-current assets.










(2 Marks)
d)
Explain any five (5) reasons why the cashbook balance and the bank statement balance of a business may differ during a given accounting period.


(5 Marks)
e)
Explain any one accounting constraints that you are familiar with.

(1 Mark)
5

